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1.

g
X
A={x|‘5€ Z,OSxSlO},
B = {x | x TF 3iHiq 397 & 3} 3R

C= {xl%e N,xSlz},aa—A A BUC):

T ¢ |

(1) {2,6} (2) {3,6}

(3) {2,6,12} (4) {3,6,12}
U= A 3 B | 5 3w |y €,

A x B 3T B x A # 3¥alIss sraal @t
e T

-(D) 25 2} 52
3 s @ 0
quiteht & =g # T Wy R el

€ SR aRb_ ik 3T Peiet Ay a2 3R b2

WO 39NY 76 € | 9 gy R g

TUTEH T TR A&l HAT Q2
(1) Sqea (2) wwfhem
(3) WEREN  (4) FHIA B

I A, 10 /@ S W dEms w o

=g ¥ 3T B, 9 ¥ it sty geeit
#H GG T, 99 A ¥ B W ufenfia
(1) 216
(3) 27

@ 28
@ 2°-1

A FAF £ : R > R, f(x) =x2a7"{5;'q.ﬁ

“ofenfiye 8, o9 B 17

(1) UHHl W HBEH T2l
(2) -TSEF T Wl T

(3) THH TG DR

(4) T ThpT, & ATBEE

lim [ x )Z"w%

x—see\]l +x

(1) e (2) 2¢
1 1

) ¢ @
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6.

IfA:{x|§e z-,Ost'lo},

B = {x|x is prime number of one digit}
and

C= {x%e N,'xs12},thenAn(B wuC)

is equal to
(1) {2,6} @ 3,60
@ {3,6,12}

() {2,6,12}

Sets A and B have 5 common
elements. Thén number of elements
commonto AxXBand B XA is

(1) 2% (@) 52

3) 5 4 0 ..

A relation R is defined on set of
integers where aRb. if and only if
a? and b? are not prime to each other,
then relation R does not satisfy the
property

(1) Reflexive
(3) Transitive

() Symmetri
(4) 'None of these
If A is the set of natural numbers less
than 10 and B is the set of prime

numbers less than 9, then the number
of relations defined from A to B is

(1) 2% 2 28
3 27 @ 2°-1

If function f : R ~ R defined as

~ f(x) = x2, then function f is

(1) one-one but not onto

(2) onto but not one-one

(3) one-one and onto

(4) neither one-one nor onto

. 2
lim (—'5"") “is equal to

x-o0l] +x

N e (2) 2¢
1 - 1

G @ 2
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7. weM f(x) = % g foget
log | x|
E@T%
(1) g
@) g
@) dafag
(4) s forg
8. o £39 YR g & 6
a-b, |x|<1
x= 1 Wix)= =1 Ix|>1
| x| 7T
FEaFE S, AadRbFAAE:
(1) a=1,b=-1 Q)a=b=%
@ aybey @ amgb=a
[ 32237 . d
9. g y = tan~! [a(azx 312)],H}EIXW%
S 3 a
OB @ 7.2
o 3a 3x
G) Fr 2 @) 7.2
10. 4 f(c) e & ik s}, T
lim flc + h) + flc —h) — 2f(c)
h-0 h
WER T :
Mmo 2 f'©
- (3) 21 4 f'(c) + f(c)
f3-1 3+i e
11. 1(ﬂ—i+2—_i']$ra~ﬂffﬂ$%:
OF; @ -5
3 % @ 7
06
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10.

11.

NE

‘ 1 . .
Function f(x) =1 is discontinuous

og |x|

at

(1) one point

(2) two points

(3) three points

(4) infinite number of points

The values of a and b, such that the
function f defined as

[axz—b, jx]|<1
=1 =L (11
FIRE

is differentiable at x = 1, are

(1) a=1,b=-1 Q)a=b=%

1. 3 1
3) a=§,b=5 4) a=_§,b=-1

3alx —x° ] dy
= ! | 2EEEE :
If y = tan [a(a2—3x2) , then dx 1S
equal to '
3 a
) 252 @) 712
3a 3x
a® +x? @ 24

If () exists and non-zero, then

lim fle+h)+fc—h) - 21(c)

h—>0 h '

is equal to : '

(1 0 2 '

(3) 21%c) (@) f'©+1f©)
The. amplitude of i @-E_'ll + 3—-}:—] is
equalto

W 3 @ -3

@ -% @ =
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12.

13.

14.

15.

16.

af z—iz‘-|=2,?|‘r|z|?=ﬁf31rﬁﬁﬁfﬁﬂﬁ%:
(1) 5-1 @) \5+1

&5 (@) T ¥

—iE e

| 1 o U

(1) +H0-) Q) J__r\ﬁ(ul)

3) £(1~i) @) +(1+1)

af? s b orami i ¥ o o

y ¥ R s ERE +yB =0,

(1) x=0,y#0

@) x=0,y=0

(3) x#0,y#0

4 x=1y=1

o 2, b, ¢ @9 apa wiew § @
l@xB) 2| = |23 |6] 3] afksi
Hael 4

(1) 2-6=0;b-2=0
2 5.2%0,C-2=0
(3) T-2=02-5=0
4 2-5=05-T=0,¢-3=0

g P yQ=(x+y)P+q,?ﬁ%xXW%:
: X
@ 5
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12.

13.

14.

15.

16.

4 : _ .
If |Z _E| = 2. then the maximum value

of |z} is
(1) \5-1
3) 5

1
(M) 750D
@) (-0

2 V5+1

(4) None of these

The square root of —i is

1
@ £+

4 £(1+10)

xd .
If @ and b are non-collinear vectors
and x and y are scalars such that

X7+ y_B) =, then

(1) x=0,y%0
2) x=0,y=0
(3) x#0,y#0
@ x=1y=1

_)
If 3, b, € be three non-zero vectors,

—

then |(?x b) - €

only if

(1) 2-5=0,%

2 b-¢=0;¢

(3) T-3=0;2
Z2-5=0;b

4)

ol ol ® ol

|= 2] 8] [¢] ifand

=0
=0
=0
=0:2-3=0

IfaP yd = (x+ y)?* 9, then %is equal

fo
O

X
@ 3

06
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18.

19.

20.

21.

06
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qﬁ'xzfyz=tw%;x4+y4¥t2+:—2,?ﬁ
%W%

1 1
Ul @ 53

|

(3) _xTy S~
afry = Jm—a’r(l —XW%‘
(1) x+y - (2) xy+1
(3) 1-xy (4 xy-2
r#mf(x)=x4—xﬁmaawﬁ%‘nﬂ

[ $2

(1) -1<x<1
(2) -1<x<1
3) x<1

@) x21

1 _
f{(x) = x* BT oI & A

(1) x>e (2) x<e
3) x=e | (4) x>‘61;

(1) 2[B\E-9+9log( +/¥-9)]
@ 3[#\E=9+910g(x3 +1x¥-9)]
(3) [P \E=9+310g(x* +1x*-9)]
@ R VE=9-91og(3 +-9)]
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17.. If x* + y? =t—-%;x4+y“ =t2+tlz, then
%f_is equal to
Ofev @ o3
® -5 @ 3

18. sin_x

19.

20.

21,

Ify= \/1—— then (1- 2) dxls equal
to

(1) x+y @) xy+1

(3) 1-xy @) xy-2
Function f(x) = x* — x is increasing in
the interval

(1) “1<x<1

@) -1<x<1

() x<1

@) 21

! _ .
f(x) = x* is a decreasing function if

(1) x>e (2) x<e

(3) x=¢ 4) x>¥1:'
¥2 -

J-\{xrg dx is equal to

(1) 35 =9+9log( +-9)]
@) -9 +9log(x +4/50-9)]
(3) ¢l -9+ 3l0g( +[¥-9)]
@) [\ -9-910g(* +\x¥-9)]
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iz — & ad
* J1+3sin?x
H %tan“ (tan x)
(2) 2 tan™! (tan x)

3) ';‘ tan~! (2 tan x)

|
4) 2tan™ (5 tan x]

o [T

\1+x2
g — .

(1) ) =log (x+~/1+2?) 3
809 =\1+2

@) fx) =log (x+1+x2) 3
g(x) = x2

3) fx) =log (x+[1+:2) 3
| 2
g =75

2
@ W=7 Mg =log (x+\1+5)

23.

sinZx

6 dx,%':
cos™ x

(1) sinx ¥ ©IE 5 %I TH TEIK
(2) o W 91 4 F1 U 9gUG

- (3) cosx ¥ ©Id 5 N TH TGS
(4) tanx T 9 5 T 9g95

24,

25, 9% f:R R, g:R — R I & §,

ad

w2 |

|t + e [0 - ) v ¥
-2

W 1 @0

-1 @
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dx = gof(x) + C,

22.

23.

24.

25.

dx
J.m- is equal to
M Etsm'l (tan.x)
(2) 2tan~! (tan x)
3) ';'tan‘wl (2 tan x)

(4) 2tan! ('12" tan x)

dx = gof(x) + C,

Jlog (x +\fl_+_ )

A1+
then

€3] f(x)—log(x+\’1+ )and
glx) = '\‘1-{-

2) f(x)=1log (x+\]1 +x2) and
gix) =x°

3) f)=log (x +/1+:) and

g =7

(4) f(x)=’—‘22— and g(9) = log (x-+\1+2)

il
sin“x | .
The J dx, is

cos® x
(1) apolynomial of degree 5 in sinx
(2) apolynomial of degree 4 in ¢*
(3) apolynomial of degree 5 in cos x
(4) apolynomial of degree 5 in tan x

Iiff:R - R, g: R — R are continuous
functions, then

[ o) + ) ) — 800 dx 3

-n?.

equal to
(1 2 0
(3) -1 4) =

06
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26.

27.

28,

29.

06

-1 =

| o G U B

ﬁnﬁ@ﬁ—m"r aqawaﬁw3 %
# g g € 9

(1) y=log(x+y—2)+C+1
2) y+1=log(x+y+2)+C
3) y+log(x+y 2) C

(4) 2y+1+log(x+y+2) C

(x—2)y +532x~1)

o

-1

1 = @)

—

x._

x— x>
3 @ 337

-qxwe‘f-ﬂxz Y HEAY

dx
S
(1) @=e+3+C

>
(2) @=e"+5+C

(3) eY=F+r+C

3
4) eY=¢e7+ J“LB‘ +C
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26.

27.

28.

29,

6) “3 @ 5o

‘Which of the following differential

equation is a linear equation of order 3 ?

dy  d&y
(1) dx3 dx2+)’2 x?

Ly
@ e

o S

(4) None of these

+y=x

d
The solutlon of E% is

%y+1
(1) y=loglx+y-2)+C+1
@) y+1=loglx+y+2)+C
(3) y+log(x+y;2)=C

@) 2y+1+logx+y+2)=C

Integrating factor of

x(x — 1)%=(x—2)y+x3(2x— 1)

is
32
x-1

m = e
1 x3

The solution of

9 _ er-yix2evis

dx

(1) &=¢ +%3+c
. x3

@) &=eF+5+C

(3) e¥Y=e"+x>+C

-3
4) eY=e¥+T+C
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30.

31.

32.

33.

34,

35.

dy_ -——Xaﬂ‘ﬁf%—

dr x- y
48 tan"¥=log(xz+y2)+c

(2) 2tan%=log(2 +y)+C

(3) 2tan"¥=log(x2+y2)+C_
% tanf=21§g(x2+y2)+c
TP, +4C__, = 14x, R RRE

(1) 5 (2) 10
(3) 8 @ 6

IR (1 + X0 =‘co+cllx+ e T X", T
Co+2c;+3c, +....+(n+1)c WAA

{1) n2®
(3) n2n+20-!

(2) n2n-!
(4) 2"+ n2n-!

(1+px),n,pe N%Mﬁxﬁ?ﬁ%

T AN 8 324 ¥,

(1) n=3,p=2
(3) n=4,p=3

() n=4,p=2
@ n=5p=3

qﬁry=x-—x2 +x3 A+ .....,Fl’r-»

(4 x=—y-y’ -y -yt- ...

x+a)";ne NS TRRA T |
(1) 2C,, an*) ant!

@) C,, 2t

(3) 2ncnxn+|arl——l

4) 2C x"a"
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30.

31.

32.

33.

34.

35.

The solution of EJXC “‘:5

(1) tan! =log(x2 + y?) + C

(2) 2tan E =log(x2+y9) +C

" (3) 2tan! f= log(x? + y2)+ C

@ tanL=2log(? +y?)+C

If¥P; +*C, _, = 14x, then x is equal to
(1) 5 2) 10

(3) 8 ) 6

(1 +x)"=cy+cx+....+cx" then
the value of :
Cgt2c+3c,+.....+(n+ )¢,

is equal to

(1) n2° () n2n-!

(3) n2n+20-1  (4) Mep2n-l

In the expansion of (1 + pj:)“, n,pe N,
the coefficients of x and x2? are 8 and
24 respectively, then

(1) n=3,p=2 (2) n=4,p=2
(3) n=4,p=3 (4 n=5p=3
Fy=x-x2+x3—x*+ ... then
(1) x=y-y+y-y'+ ...
Q) x=y+y+yi+vi+..
B) x=-y+yV -y +yr—......

"The middle term in the expansion of

(x+a)*™;ne Nis

(1) 2ncn+ | xn+[ an+l

@) C,, xant!
(3) 2ncnxn+l ah- t
(4) 2C, 5" an
06
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36.

37.

38.

, ,_'('1) A

39,

40.

06

aeas|

kA=

cosx —-sinx 0

IR F(x) =] sinx cosx 0 |

' L 0 0 1
a9 F(x) F(y) R & :
(1) Fx+y) (2) Flx-y)
(3) F)+F(y) (4 F@)-F(y)
? j],a‘rA"atm%:
[ 3n (_4)n:|
L1 1
[1+2n —4n |
| 1+n 1-2n.
[1+3n1-—4n]
_ 1+n 1-n
I+2n —4n ]
n 1-2n]

8y

2

)

4

1 -1 °1°
2 -1 0
1 0 0

(2) A?

)
@ HAa-21)

, T A~ TR

3 A°

A x, v, Z oTTe SEt ¥, &
1 log .y log z

log,x 1 log,z |wme
log, x log,y 1

n o 2 3

(3) log, xyz 4) logc(x+y+z)

Hﬁmﬁﬁﬂx+2y+32—l 2x+y+

3z=23W5x+5y+9z=47F

(1) FET T |

() sfEdase |

(3) FEAL |

(4) =dd FE T
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36.

37.

38,

39,

40,

() A

cosx ~sinx 0
IfF(x)=| sinx cosx O
0 0 1
then F(x) F(y) is equal to
() Fx+y) @) Fx-y)
(3) F)+F(y) (4 F&x)-Fy)

_fA_|:3'—4
BA= 1
'3n (_4)n]

L1 (-1

[1+2n —4n |}
| 1+n 1-2n]
[1+3n 1—-4n
i 1+n 1-n |

[1+2n —4n |
“@

L)

], then A" is equal to
1)
)

3)

n 1-2n
1 -1 1
2 -1 0
1 00

IfA= , then A~! is equal

to

(1) A Q) A?-

1
(4) 5(A-21)

If x, v, z are positive numbefs, then
1 log y log. z

logyx 1 log,z |isequal to
log,x log,y 1

Mo 2) 3

(3) log xyz - 4) log,(x+y+2)

The system of equations x + 2y + 3z = 1;
2x+y+3z=2and 5x + S5y + 9z =4
have

(1) No solution

(2) Unique solution

(3) Infinite sclutions

(4) None of these -



41.

42.

43.

44,

45,
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T3+ y = 9 Bt (1, 3) 3R 2, 7)

® g el Y@ ® e oagem §

foifora wet €, T @
(1) 3:49r &4 &
(2) 3:4 s w7
(3) 4:3 RIETR

(@) 4:3 IR TR

x=0,y=,03=ﬁTx=
<l 1 g &

1
¢)! x2+y.2—cxicy+zcz=0

¢ @ T B A

' i

() 2+y*tex—cy+yc?=0
c?

(3) K+y’—cx—-cy% I=0

2
(4) iy’ +ex+cy- z=0

154 @t T A AW T F AW,

W 2x -3y =5 3x—4y=7¢
T 9 H GHER T

(1) X+y?+2x-2y=62

Q) 2+y2+2x—2y=47

(3) ¥2+y?—2x+2y=47

(4) ¥*+y2-2x+2y=62

g PQ WEeH y? = 4ax H TH THET -
| 2.5P.5Q
wﬁm,mﬁ:sqr%:aasp+sQw%:
(1) a

(2) 2a
3) 4a (4) a?
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41.

42,

43,

44,

45,

189

e

(2, 7) is divided by the line 3x_+ y=9
in the ratio

- (1) 3:4externally

(2) 3:4intemally
(3) 4:3 externally
(4) 4:3 internally

The equation of circles which touches
x=0,y=0andx=cis

1
Q) xz+y2—cxicy+zcz=0

1
(2) @+y*tex—cy+ge?=0
2

(3) R +y-cr—cyt =0

) 2
@) Rty +extey—g=0

The lines 2x —~3y=5and 3x -4y =7
are the diameters of a circle of area
154 square units, then equation of this
circle is

(1) 2+y*+2x-2y=62
2) Z+y:+2x-2y=47
B) X+y?-2x+2y=47
4) »2+y2-2x+2y=62

If PQ is a focal chord of the parabo]a

L 2.5P.SQ
y* = 4ax with focus at S, then ¢p; SQ

is equal to _
(1) a {(2) 2a
(3) 4a 4) a2

The product of slopes of the conjugate

diameters of the ellipse 2+yb_2 1, is
a? 4a2

M 37 @) -7
B2 2
e @ =z

06
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46.

47.

48,

49.

50.

06

(1) W=

?Tﬁfaﬁ?x“ + y* = ot & it forg o ot
@1 At #Ei 9 p SR q FEvS HEdr

W x=a(® + sin 0), y = a(l — cos 8) %

=§Waﬁmaﬁaﬁr§%
(1) 22 @ 3
@) \2a @ %

T g(x) =gfl, x # 0 % =RA A7 ¢,
safes
(2) gx)=1f(x)

(3) fx)=0" 4 gb)=1f(x)

T ay? = x2(a — x) & TN T AAFA &
2 2

= @ &

_ 2 ' 6a2
@ % @ =
W x = 4 ARG y2 = 16x FAA
Uieag S 7 ST WA &
) g—éaﬂm%
@ Lot vt

¢) Gt et
@ Pt et
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46.

47.

48.

49.

50,

If the tangent at any point on the curve

x* + y* = a* cuts off intercepts p and q
. __4—. __4

on the axes, thenp? +q3 isequal to
-4 1

(1) a3 (2) a?
2 =L

3) a’ (4 a*

The length of the normal to the curve
x=a(@ +smn 0), y=a(l - cos 0) at

.

=EIS
(1) 22 @ 3
3) \2a ) %

The function g(x) = ﬂf)', x # 0 has an

 extreme value, when

() f'@)=fx) Q) gx)=1x)

(3) fx)=0 (4) gx)="1()
Area. of the loop of the curve
ay?=x*a-x)is

m & o =

3) % @ “1%3

The area of the region bounded
between the line x = 4 and the parabola

y2 = 16x is equal to
D 1—36' square units
(2} ‘33—2 square units

3} —6?,& square units

(4) ‘]% square units



51.

S2.

53.

54.
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U de W A AR uHE foaed
FAT: 20 AR 4 & | IR ¥ F IS WY
3 2 @ e e R, w9

(1) qﬁawaﬂrwﬁamaaaﬁﬁn
(2) wiers & 99 T 2 9% SR 9%
T e a8 @ |
wifienl g S U HTe foreer]
HE ST

Tifkgesr 5 SR 9 A fame
g SR

3

(4)

X, 75% umel ¥ AR Y, 80% AWl §
¥ ated & | fHe WHE qea | Fand
THA i R e o S Ul 6
ferramrg w8 7

1) 55
@ 55
3)
@ 1

2 % % ot ekt ¥ sy [, Fa

FIqa HIe ( AT 1 ¥, T WRIEH B o
gefes MR W fFa STRT & | =&

YRV S YT B Tt TR €
3

M 3¢ @ 3
1 i

®3) @ 3

Qo 1@ 11 @ 3 e e

w0 ¥ 9o foe e € 1 1fe @ = 9
%ﬁﬁ@ﬁﬁ%ﬁuﬁ%ﬁﬁ
uﬂiﬁﬁar%

) 2

3) (@)
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51.

52.

53.

54.

The median and Standard Deviation
(S.D.) of a distribution are 20 and
4 respectively. If each item of
the distribution is increased by 2,
then
1)
(2)

Median and S.D. will increase.
Median will go up of 2 but S.D.
will remain same.

Median will increase but S.D. will
decrease.

Median will decrease but S.D.
will increase.

(3)
Q)]

X speaks truth in 75% cases and Y in
80% cases, What is the probability that
they contradict each other in stating
the same fact ?

7

D 355

20
13
20
3
20

2
(3)

1
@3

A determinant is chosen at random
from the set of all determinants of
order 2 with elements 8 or | only. The
probability that the determinant chosen
isnon-zerois

3
(1) Tg

3 5

@
4

b= oo

Two integers are selected at random
from integers 1 to 11. If sum of both is
even, then the probability of both the
integers being odd is

1
(1) 5 @)

| Lt

3
® 3 4)

06



55.

56.

57.

58,

59,

60,
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feplt e =1 wor V ¥ 1 3l R % e
WA @ UF A AR k Wm0 R

W, W A 9T &
mv (2) kv
(3) kv 4 2kv

I G T I THE W R, A G
Wﬁﬁ:'{'@m%:

(1) %

(2) T H

(3) 7= 59F

(4) HIE SHF T8l 1

g

G={a,a?, 2% a%, a% a®) FFAH &
(1) aad (2) a° awt
(3) abFae 4) adiRa’

g O(a) = m, O(b) = n ¥&I a 3 b
Il TE G ¥ srags €,
(1) O(ab) =+/m

(2) O(ab) =3/mn
(3} O(ab) =mn
(4) O(ab) =&¥.9. {m, n}

I p T W& ¥ $IR G T ST-TeeE
p’ I H W, a9 G ¥ H5 g
&

(1) (p+1)9=rRE

() p? 3Ty

(3) p ETw

4) (p-1) %54

s H 9% G 1 T Sa9qe ¥ ot a, b e
G, it :

(1) Ha=Hbax IR FoeT qab~' € G
(2) Ha=Hbafg st Faer afgab! e H
(3) aH=bH IR sk I I (ab)! € G
(4) aH=Hbalk iR Fae gt ab~l e H
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35.

56.

57.

58.

59.

60.

Variance of a distribution is V. If each
value of the variate be multiplied by a
constant quantity k, then new variance
is

v {2) kV

(3) k*V (4) 2kV

If G be an infinite cyclic group, then G
has exactly

(1} One generator

(2) Two generators

(3) Infinite generators

(4) No generator

The generator of the group

G = {a, a%, a3, a*, a°, 2%} isfare
(1) aonly - (2) a’only
(3) afonly (4) aand 2’

If O(a) = m, O(b) = n, where a and b
are elements of an abelian group G,
then

(1) O(ab) =/m

(2) O(ab) =+/mn
(3) O(ab)=mn

(4) O(ab) =L.C.M. {m, n}

If p be a prime number and G is a non-

abelian group of order p°, then the
centre of G has exactly

(1} (p+1)elements
(2) p?elements

(3) p clements

(4) (p~1)elements

If H be a subgroup of a group G and
a,be G, then

(1) Ha=Hbiffab'e G
(2) Ha=Hbiffab'e H
(3) aH=DbH iff(aby'e G
(4) aH=Hbiffab'e H

A s e
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61.

62,

63.

65.

AN G FTF e IRTTH TE G H
ﬂﬁ%w%mﬁNGmaﬁ%W
aq'a!{s%aa

H
m N _(HnN)
HN H
“H_( AN)

ti

)

Z,

Ill

® N=@
(H

4

D D
Z Z

T
HN _
N =

T AR W HT Tl STHHE BN ¢
(1) -3 Q) =W
(3) TEHE (4) TEaT=E

afs £, ¥F (G, +) REF (G, ) FTH
WE G &, Wa, be GH

(1) flaxb)=f(a)+fb)

) f(axb)=f(a)x f(b)

(3) fa+b)=fa) x f(b)

(4) f(a+b)="1(a)+ {b)

P i R I T WYY

(1) T Hakab=0=>Ma=0Ab=0

2) % TR e T Y W R |

(3) VA% difia qoieE W o &
e | -

(4) WIHa Gemel s e weter
T TUn 3 W U Terd B ¢ |

Foer o A i W7 O oeRrd W R 7
1) N+ 2 (C,+.)
3) Q.+ ) @) R+
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61.

62.

63.

@

65.

Let G be a group and let H be any
subgroup of G. If N be any normal
subgroup of G, then

HN H
) N E=HAN)

HN H
@ HE=EHAN

HN
® N EEHAN)

HN (HnNN
(4)N(;)

Every subgroup of an abelian group is
(1) Non-abelian (2) Cyclic
(3) Normal (4) Coset

If f be a group homomorphism from a
group (G, -+) to a group (G, X), then for
abe G

(1) f(axb)=1f(a)+f(b)

(2) flaxb)=1(a)xf(b)

(3) fla+b)=1f(a) x1f(d)

(4) f(a+b)="f(a)+f(b)

Which one of the following is correct ?
) Ihannglfab—'0:>eithera=0
orb=0

Every finite ring is an mtegral
domain.

Every finite integral domain is a
field.

The set of natural numbers is a
ring with respect to the usual
addition and multiplication.

3)
S

Which of the following is not -an
integrat domain ?
(1 (N, +,.)
3) Q.+

2 € +)
“ R, +)

06



66.

67.

68,

69.

70.

B 2

71.

06

- (3) PPt
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Efﬁx2+px+l=0%'q§a,b§'3fﬁxz+
@+ 1=0FTec dg A (@a~c) (b—c)
(@+d)b+d)yFAFE:

M p*-q* 2) ¢*-p?

(4 2pq

ﬁﬁ'ﬂﬁﬂﬂﬂm—z+bx+c=03?%’fiﬁi

2
IR 8, ?ﬁ@wﬁ
' 2 : b2
) 5 @ =
2 1
3) & @ 5=

x=6% o, sgug a? — 5 — 5% - Sx +
2 1 0 SR ¢
(1) 2

3) 1296

(2) -12
4) 8

TR 23 - 18x —35=0H T &
(1) - w+ft awcfes ofik g

2) it et otk B

3) witahmy

@) wF aia® i §t whns g

D5 -3+ Tx+2=09aH R

31 FOTHS el &l T&T &
(1) 1 (2) 4
4) 3

- Jdu odu
Ifr u = tan™! (X] T+ Vg,

b3
¥

(1 o

(3} tanu -

(2) u

(4) sec’u
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66.

67.

68.

69.

70.

71.

(1) p*-¢

(3) 1296

If a, b are the roots df)‘2+px+ 1=0
and ¢, d are the roots of x> +qx+ 1 =0,
then the value of (a — ¢} (b — ¢) (a + d)
(b+d)is _

2) ¢*-p?

(3) p*+q? 4) 2pq

If the ratio of the roots of the equation

+ 132
ax? +bx+c=0isr, thenl%)—is
~ equal to
: a2 : b2
(1) be (2) caf’
¢ 1 '
3 @ The

For x = 6, the value of the polynomial
P 5x3_—' 5x2 — 5x+ 2 is equal 1o

(H 2 2) -12

(4) 8

The roots of the equation

x—18x—-35=0are -

(1) all real and equal

(2) all real and distinet

(3) all complex

(4) one real and two
" conjugate

complex

The number of utmost negative roots
inx®+58% - +7x+2=0is

(1) 1 @) 4

(3) 2 4 3

Hfu = tan-l. G), then the value of

du du.
‘ xa—x+ya—yls
1y 0 ) u
(4) sec?u

(3) tanu

RE % =S U P
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74,
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qhEp=a sin\pcds I S5k T Y

M p (2 2p
(3) 3p (4) 4p
K

-2y +xy(x—-y) +y(x-y)+1=0
I STt

x-y=0,x+y+1=0,x+2y+1=0
ook ot die faegell W g FReal € 1At &
ﬁ-‘g’ﬁﬁ'ﬂﬁi@ﬂﬁi’lﬁ%:

8y
(2)
€))
4

x—y-1=0
x+ty+2=0
x—y+1=0
-x+y+2=0

o0 oD

fje*f+y2)dydxaﬂ‘ﬂ?%:
00

@ 3

\=
2

28 A

(3) €
WV, x20,y20,220,x+y+2z51
At [ [ [yt
dy_dz-amat% ! |

[7 [m [n
U)ra%m+m

[ [m [n
@)

[@+m+n-1)

i n
@) r(lm+mn+nl)

[2fm [n

d+m+n)| (7 +m+n)

4
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72.

73.

74.

7S.

The radius of curvature of the curve
p = asin W cos ¥ is

M p
(3) 3p

(2) 2p
4 4p

fx-y=0,x+y+1=0,x+2y+1=0.
are the asymptotes of the curve

B2y tay2x—y)+ylx—y)+1=0
cut the curve again in three points,
then these points lie on the straight line
(1) x—-y-1=0

2 x+y+2=0

3) x-y+1=0

4 x+y+2=0

fje‘“z +¥) dy dx is equal to

00
OF; @ 3
@) % @ 32E

If V is the region bounded by x = 0,

y20,z20, x+y+z<1, then

J.J xl-lym=1 z“‘lhdxdy dz is equal
v _

to
[ [m [n
M [(¢+m+n)
[/ [m [n
@) [[(+m+n-1)
o [[m
G = m+ mn + 0D
[/ [m [n
Q)]

(/+m+n) r(f +m+n)

06
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AR fx) =2 — 4; x e [2, 4], T f(x) &

R dasAwmae?

(1) et W wEsa & |

(2) T T e |

(3) C=2y3 e (2, 4) Frem & =t
f'(c)=0

(4) FF BT |

W o wE g e

-1 —_
agx"+tax"" + . +a =0

. W TS A 0 SR 1 % 7w

g
'(1) %+n?1+w+a¥l_;:0
(3) nmag+(n-1Da,+...+a,_,=0
ao al ‘ .
@ Jaytpte-ta,=0
78. AR ATHA {a )} T (b} W GRiE
Wit a A b 1 S B 3, v
'nlgnwa‘b" +a,b, _n] + ..+ anb_] ERTER'%‘
(1) a+b (2) a-b
(3) ab (4) \J(@®+1?)
79. A {x,} T
2x +3
x =1,x .= 4 VneN, ¢
(D SR
(2) FwERI
(3) W frERt
(4) T QB T
06
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76.

77.

78.

79.

(€)

If fx) =\x2—4; x € [2, 4], then
which of the following is true for f{x) ?

(1) Rolie’s theorem is applicable.

(2). Lagrange’s theorem is applicable.

(3) There exists C=2\3 € (2, 4) st.
f'(c)=0. '

(4) None of these

Using Rolle’s theorem the equation
g x" +ax® "+ +a =0
has atleast one root between 0 and 1, if

4 3

-(l)‘.'.—r—l_t}-n_l-'t_'.‘_"'-i-an_._l‘-:o
a, a

2) n—1+n—~2+'”"+an—2:0

3) na0+(n-1)a1+....+an_,=0

@ g+ttt ta=0

If the sequences {a } and {b}
converges to finite limits a and b
respectively, then

albn + a2bn~'l toot anbl

.nlgr.‘m n — is equal
to

(1) a+b (2 a-b

(3) ab @) \J(@@®+bd)

Sequence {x,} where

2x +3

n
_x,=1,xn+]=—4'—Vne N,

is
(1)
(2)

convergent

divergent

conditionally convergent
none of these

“
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81.

82.

83.

https://previouspaper.in

'aﬁpaﬂTqamﬁamww%?ﬁ
2 3P 4P :

’%""’flqﬁ?“;ﬁ

Tig

(1) p<q-1i

(3) p2q-1

(2) p<q+l1
4) pzqtl

A ¢ AT SR A R 2

Z#1

S = iR EAA ¢ |

W =] 4 :

(2) fz)= |z|2aqéﬂ:raa%|
G) flz) =" ne zt Hﬂimﬁﬁﬂ
T

(4) f(z) = |2> + oo Faw qw
g A ¥ 1

R fz) = u + iv T i e &, A
fadsmar T g?

du  ov du

Bv
4 5r=T0°38

)
ov
=

@ 5 =T 56'5'6"?39

wer fz) = || F fore Fer 9
P T R 2 :

(1) oo faveifas

(2) WH (0, 0) W favaifvss

(3) (0, 0) wmﬂﬂmaﬁw’rm

COERIE)
4) (0, 0) W FRALAT wHiswol A
T gt |
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80.

81.

82.

83.

@

If p and q are positive real numbefs‘,

P 3P 4P

then the sencs];+2q+3—q+ ...........
is convergent if

() p<q-1 (2) p<q+l

- () p2q-1 4 pzqtl

Which of the following statement is =
false ?

- '
z= o, *=1, .
(1} f(z) ={ 0 —ils continuous
atz=1.
" (2) f(z) = |z|?is continuous everywhere.

flz) = 2", n € z" is differentiable
everywhere.

The derivative of f(z)
exists only at origin.

(3)
= |22 is

S

If f(z) = u + iv be an analytic function, |
then which one of the following is true ?

{ Bu av du av
D 5~ 20~ To0-
qu_1v du_ v
__() dr 1do’o0 T
@__.1.91@“__3"
® =T’ 00

Which one of the following is true for

the function f(z) = ‘\} |xy| ?

(1} Analytic everywhere

(2) Analytic at {0, 0) only

(3) Cauchy-Riemann equations are
satisfied at (0, 0)

Cauchy-Riemann equations are
not satisfied at (0, 0}

- 06
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84.

85.
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06

If S ux, y) = € cos y VAR ¢ A
T S TR v(x, y) € :

(1) e¥cosx+C
(2) efsiny+C
(3) e¥sinx+C

(4) e cosy+C

_{az+b)
%ﬂ?ﬁ%ﬁﬁ@ﬁmw (cz+d)

w-BHAe § 1 g9 9 2 i T

e Y W SRR e &2
(1) |a|=1d| ) [o| =l¢l
(3) lal=|c| 4) [b|=|d|

JeHeTT TR (x + a)p? + (6 — V)

. . d
p-y=0(Hip=)F A T E

ac?
(1) y—_cx=g+—1

(3) y+cx o+l

aZe?

4) y+cx+_"'c+1_0

2
mqﬁmg—é+x= 0;x0) =1;
x'(0) =0, &1

(1) ST AR HTEL A & TH t — o0
(2) TF oW T

(3) T T W SR AT IR

(4) TrmmA Y

https://previouspaper.in

19

84.

85.

86.

87.

If the function u(x, y) = ¢ cos y is
harmonic then its harmonic conjugate

v(x, y) is

(1) e¥cosx+C

(2) e'siny+C

(3) &¥sinx+C

4) -e“cosy+C

Under which condition that the
transformation w = (22 " 3) transforms

the unit circle in the w-plane into
straight line in the z-plane ?

() [} =|d| 2) [b]=ic]
@) lal=lel @ bl=|d
The general solution of the differential
equation (x +apP+G-y)p-y=0

(wherep = dx) is

(1) y-ox=5,7

cla
@ v+

=X

' 2.=£.
(3) y+ex=_17

202

- a’c
(4) y.+c.x+c+1—0

The solutioﬁ of the differential

: 2
equation %r% +x=0;x(0)=1;x(0)=0,
0l
(2)
(3

approaches to infinity as t — o
is a periodic function,
is always greater than or equal to

unity.

does not exist.”

(4)

L]
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el WHIHOT ng—;_%+ 3,\%'+ y=0
HEAE
(c; +cpx)

(1) y=——%=
(¢, + ¢, logx)

¥
(e; +¢,x)
(3) y= Tog x
4) y=x{c;+c,logx)

(2) y=

YT S FEHOT
20p-yq) = y2 - X2HEAE
() fx+y+z)=0
(2) fxy,x+y+2)=0

3) fix+y,2+y2+28)=0
4) fixy,x2+y2+z2)=0

Qs WA T A= FR
ST o> 0 F et &0

1
0 5L gmew [ qus

D_l*_aQ=e°"‘fe“.“de

(2)

(3) I_).l_(.x.Q=eﬂxJ.e-(n'de

1 |
@ i Q- [erqar

WP =xiby) e ko= 7] A
grade)a?ﬁ?%‘:

m % ® -5

® -5 *
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| 88.

89.

90.

91.

The

solution of the differential
Y

equation x? %}%+ SxQX +y=0is
_ o sz)

ay y-—22
| (¢, + ¢, logx)

@ y=—"——

(c; + %)
G) y= log x

4 y=x{(c,+¢, fog x)

Solution of partial differential equation
Zop -y =y2 -2 is

(1) fxr+y+2)=0

() foy,x+y+2)=0

() fx+y, a2 +y2+29)=0

(4) faxy, 2 +y*+2%)=0

If Q is any function of x, then which bv'n:e
of the following is correct forot >0 ?

() grgQ=c% [owQar

1 .

(3) 5o aQ_eaTJ.eﬂ“de

(2)

)

D+ao

Q=eﬁfe°xde

T = xi

;..

yj + zkand r = |?|, then

grad | ~iis equal to

|
\._,,_,/

) - ® -3

3 -

Tlml lml

@ -3

06
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ﬂﬁ'?waﬁw_%,aadiv?aw%:
1 2

O 7 @ 7
3

€] 4 0

AR F =ty +1)it)-@+y)k

(1) VxF=0
@ V-F=0

. (3) F-(VxF)=0

@ [F]=
FeSMA 2 +y2 + 22 =9 YD E, 7@
ffr ndS SER T

(;) 27m
(3) 54m

@) 36T
(4) 1087

1) ﬁ«"- dr=”ﬁ (VxF)ds
C 8

@) f('v’x"F’)-dr=”ﬁ-?ds
3) f(ﬁ?’ F)dr—ﬁn Fds

(4) fF dr= U(?x F)-dS

ﬁimia;mﬂwqa;%@%uﬁq Sl 2,

N S
(1) 5 @) 25
& 3 @7

https://previouspaper.in

21

92,

93.

94.

95.

96.

If T is a vector, then div T is equal to
1 2
Ofe @ ;

3
3) = @ 0

If1_3>=(x+y+1)’i\.+j—(x+y)12,tl_1en
(1) VxE=0

@ V.-F=0

3) F-(VxF)=0

@ [F]-

If S is the surface of the sphere
x2+y?+22=9, then

Jfr -n.dS is equal to

@) 367
4) 108 m

(1) 271
(3) S4n

Statement of Stoke’s theorem is

1) f?- drszﬁ (Y xF)ds

C g .
;(?x F)- dr=Uﬁ .Fds
C S

(@B dr= Uﬁ -Fds
&

C

:T:’ .dr= H(? x F) - dS
S

C

(2)

4

The projection of a line on the axes are
2, 3 and 6 respectively, then the length

of line is
(1) 5 @) 25
@ 3 @ 7
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97. T (3, -, 11)@%@-;5:%2:?%3
W &R T SR % UK & FREE T

(1) 2,3,4)
G) @, 1,1)

@ 257
@ 1,2,3)

08, = r, I r, B ¥ T T whEw
TRy w@ ¥ o St aw @ e

g _
(1) T+ (2) I, .
' e
B) i+ -

@) . 7.

99, fag(1, 2, 3) = @Hao

2x+6z—3y+35:0%i4ﬁmﬁrﬁw%:

@) (3.-1,9)
(4) (=3,5,-3)

(1 1,5,-3)
(3) 3,8-9

100.
2vy + 2wz + d = 0 T ¥F & Frefe
m%,aaamwuﬁw%:

(1) v?+vi+w2=d
w v: o ow?
@ Ftpte”
2 2 2

® gt a=d
) §+{—+%=d
P Q R .

101. A5 =7 =4,WETRQ$T%I§'W$I'§W
el P sl Q %t uRomd &, @ R 3R P
FHH HE . .

12 3J15
O tan"(‘l“‘l‘) @) tan‘l(AIlE]
| 15 3
(3) tan“(% 4) tan“'['l—l).
Q
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o T ax? + by? + cz? + 2ux +
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97.

98.

99.

100.

Co-ordinates of the foot of the
perpendicular from the point (3, -1, i1)

-2 z-3
to the hne2 )’—3“=§Tis

1 23,49 2 2,57
3 &L 4 (1,2,3)

I two spheres of radii 1 and r,

intersect orthogonally, then radius of
common circle is

(1) r +r, (2) 7 -1,
3 rl )
@) \Jfi + 155 (4) z
r1 T

The image of the point (1, 2, 3) with
respect to the plane '
2x+62-3y+35=0is _

1) 1,5-3) @ G,-L9 -
(@) (3,8,-9) @) (3,5 '—3')

If equation ax? + by? + cz? + 2ux + 2vy
+ 2wz + d = O represents a cone, then
the required condition is .

(1) w+vi+wl=4d

2) "a—+—g+'—=d

101, 112=2

R
73" % where R is the resultant

of two forces P and Q acting at a point,
then the angle between R and P is

12 315
(1) tan~ (“) 3] tan"[ 11 ]

15 3°
3) tan-'[Q (4) tan~ (11)
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afr fedt KA T W P % Regal
(2, 0), (0, 2) 3 (2, 2) % T e}
HON: 3, 4 T 10 THE €, a9 G o
Ef)’ftl‘ﬁ'l=rrl11?i: :

aﬁpw$$aws$mﬁwTM$%ﬁﬁmi

TR BT e?
(1) “1<HST () —=o<p<e

(4) 0spu<l

ﬁwﬂ@maﬁﬁﬁmmﬂ
it & BYeT e S e 7

(1) o S’ & - a

@) e g

@) @ Rvel ¥ wd fg W o W=
- R i

(4) et Fasp g =t wfafsean

YR F & vl o wa ¥
() y=csecwﬂ?@ﬂﬂﬂﬂ%l
(2) y=ctan y TTE THIFOT Y |

(3) y= cumh[]mﬁhzﬁhmw%n
(4) Wi ot

P e Spme————
FALT TR FHAI 81T 0T 9 g
r.o.

(1) "= ey

@)
(3) wTRIivTR waet
(4) sfauaer
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102.

103.

104.

105.

106.

If the moments of a given system of
forces about three points (2, 0), (0, 2)
and (2, 2) are 3, 4 and 10 units
respectively, then the magnitude of the
resultant force is

85

(1) /85 @ \/3
85 1

3 \/3 (4) 3\/85

If U is the coefficient of friction of a
rough surface, then which of the
following is true ? '
() -lsu=sl
(3) O<p=t-

{2) —oo<l_|,<o-o
(4) O=sp=l

Which of the follou}ing forces should

not be omitted in equation of virtual

work ?

(1) The tension of an inelastic string.

(2) The thrust.of a rod.

(3) Mutual reaction between two
bodies at their point of contact.

{4) The reaction of any smooth
surface.

The true statement for the commaon
catenary is

(1) y=csecwyis intrinsic equation.

(2) y = ctan Vy is parametric equation.
(3) y=ccosh G) is cartesian equation.
(4) all of these |

If the radial and trahversal velocities 6f a

particle are always proportional to each
other, then the path of the particle is

© (1) Parabola

(2) Circle
(3) Equiangular spiral
(4) Hyperbola _
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107.

108.

109.

110,

% T W ww @ % e

3

s =7~ 5¢+9t+17 3 ITTA 7T <hell

& o T A FOT B, e

1) 1<t<9
2) 1>t>9
(3) 1<t<9
4) 1<t<9

Wm@laﬁwsﬁ%mdﬂ
e v Ais A €, ueh fat @ wewt
¥ o gt ft W afs m s9E &6 %0

mﬁm_mﬁwaﬁnﬁrmmﬂ%:
d%  —mi & A

M G2="7* @ = m*
& - % _-ml

@ G @ @ty

F w AT o Hor e fEw A
il ffar ST ¥, o afest WE R
¥ 1 aft 7w fag (p, ) © TSR & 7 tan o
TERE

p R 9 R
M ¢ R-p @

p_R q
@ qgR-q W P
A & h e S e e W v
% T H 3% PR 15T WA &R
F % fo e o ARt YET 9 u,
for ot g1 AT B €2

(1) u<~/gh(1 + cosec B)

. (2) u S'\fgh(l -- cosec fB)
3) uz~Jgh(l + cosec P)
(4) u>+Jgh(l - cosec B)
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107.

108.

109.
- making an angle o with the horizon,

110.

If a particle moves along a straight line
_ 0

according to s =3 — 5t + 9t + 17, then

its velocity will be negative when

(1 1<t<9 -

@) 1>t>9

(3) 1<t<9

@) 1<t<9

A light elastic string of natural length
/ and modulus of elasticity A is hung
by one end and to the other if a particle
of mass m is tied, then the equation of
motion of the particle is

d2x -mi x X
D) @1 x (2) F=—“n§x
&x - &% —ml
@G @=m=* @@t

A particle is projected in a diréction

its horizontal range is R. If it passes

through the point (p, q), then tan o is -

equal to
p_R 9 R
1 S— —_—
1 4 R=p @ pR-p
p R 9 _R_
3) *. 4y .
@ grR-¢ @ pR-q
The angular elevation of an enemy’s

position on a hill h metre high from a
cannon is B. In order to shell it, the
initial velocity u of the projectile must
satisfy the condition

(1) u<+/gh(1 + cosec B)

- 2) uS\[gh(l — cosec f)

(3) u=4/gh(l + cosec B)
(4 u >'\] gh(1 - cosec B}
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111. & V @ n ﬁﬂTWGﬁWW%‘,Fﬁ

112,

113..

114. 3K E, (t)=fe§du,aaEi(t)$rwm-
wiard
o S @) logp
) slogp @ 3logk+D)
115. -ﬁwﬁ@aﬁwwaﬁﬂﬁz@qﬁ%fk
wig oL
(3j %n-;-=’rﬁ—m @ S=xb-
06 |

fdsrmes oy = 2
() VF @+ 1) ek =t vds @@t
Yawmwrad

(2) V& (n- 1) ofzwi $ R gt v
&t feremfer =1t = Tewet | L

(3) (n- 1) Y @a= i = HiE o
T V 6 AR |

(4) n Sl = B o qgeE, SV H
ﬁmﬁﬁm%,wamﬂ%l

T (X, d) wqﬁmmﬁz%aﬁm& Be
Xmuﬁw% :

) A fagaag=ae |
2) AGTER IR AR FTAAA=A

2F,(1, 15 2, —x) TR E :
“(1) log(1 + x) (2) log(l —x)

+x)
1-x

- 1 1
® Tlogl+x @) log[
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T 111,

112.

113.

114,

115,

If V be a vector space of dimension n,

then which one of the following is not

true ? _

(1) Every list of (n + 1) vectors of V
- is linearly independent.

(2) No list of (n — 1) vectors of V can

span V.

Any set of (n — 1) linearly

independent vectors is a basis of

V.

Any set of n vectors that spans V,

is a basis.

&)

“)
If (X, d) be a metric space and let
A, B € X, then true statement is

M Aisa open set. _
(2) Aisclosed ifand onlyif A = A.
(3) AUB#AUB

) AnB#ANB

: 2F](1,'1; 2, —x) is equal to

(1) log(l +x) (@) log(l-x)
i
®) rlogi+n @ 1og[1":3

oo .
—L

then Laplace

If Eft) = J.,Tldu,

transform of ]tii(t) is

®y ) logp

@ lgp () Flog(p+ )
Which one of the following is not
Serret-Frenet formula 7 :
(1) g;=1<ﬁ 2 3 db = Th

3) %=Tﬁ ) :_11:: kb 7t
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116. aﬁ%%ﬁhm-wwqﬁaﬁmm |

W R T A S

(1) el wu & S sl wiel % A

Fwq A

@) Tea o & et o %

EIE XK

(3) e wm & o g vk o U

et ik & g % 9 °

(4) Tl s & < et ik & SRR

HETH

ﬁmwﬁ@ y(1.2) H AT
x | 1o 11| 13
vy | 0 | 377219
(1) 13.2 (2) 158
(3) 13.0 (4) 137

117.

2

}AXZ:&-’W%:

(1) P+y’+23
(3) x+y+z

118.

@) xyz
119.

ot e el g =nfed
(1) (m+1)(n-1) (2) m+n-1

3 @-H@-1) @ m-DE+D

120.
CICIR:Cf gad. Fraffie g

, B
T A 6 2
Al -1 A -7
-2 4 A
(1) -1€A<2 (2) -7SA<2
(4) -7<SA<6

(3) -1<A<4
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@) 2+y+z

AF e a9 & e P spam segE

m Ui S n TR el aiRaeT gRer
T F-3WE I gET '@ % el
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116.

117.

118.

119.

120.

Any covariant tensor of second order
can be expressed uniquely as the

(1) Sum of two symmetric tensors of
order two.

Sum of two skew-symmetric
tensors of order two.

Sum of a symmetric tensor and a
skew-symmetric tensor of order
two.

Difference- of two symmetnc
tensors of order two.

(2}
(3)

4)

From the following table the value of
y(1.2)is

x 1.0 | 1.1
y(x) 0 3.7
(1) 13.2
(3) 13.0

2
ijﬁisequalto :
y Tz

(1) B+y3+22  (2) F+y2+
(3) x+y+z 4) xyz~

13"
279 |
) 158
4y 137-

For  non-degenerate BFS in
transportation problem with m rows
and n columns, total empty cells
should be

O m+1)(n-1)(2) m+n-1

@) m-H@-1) @) m-DHn+])
For what value of A, the game with

following pay-off matrix is strictly
determinable :

B
A 6 2
A{-—l A -7}
2 4 A
(1) -1SA<2 " (2) -TSA<2
() -1<As4 (4 -7<A<6
06
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fmm e
(1) f=r

@) 1=

123.

124;

125.

126.

06

(3) Tt
4 TR

el Surm § T S @ widee
o ST @, 9 Bia €

(1) 7T

2) fafr=

3) Mi=m

@ sqﬂaﬁﬁﬂﬂa‘:rﬁ

(1) =ar=aH fafy § wgmr s
(2) USH Y W YT WY
(3) FEX | YgHET AT
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(1) @

(2) @-fa=m

(3) @-fwm
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(1) w9 A
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121.

122,

123.

124,

125,

126.

Educational psychology helps the
-teacher
(1) to understand developmental

characteristics.

to understand individual differences.
to understand problems of children.
all of the above

(2)
(3)
(4)
According to whom, educational
psychology is the science of education ?
(1) Skinner

(2) Peel

(3) Pillsburg

(4) Bruner

In longitudinal approach children who
are observed, are

(1) New

(2) Different

(3) Same
(4) None of the above

A child learns more if he is

(1) taught through lecture method.
(2) taught through textbook.

(3) taught through computer.

(4) taught through activity method.

What is essential for learning ?
(1) Self-experience

(2) Self-thinking

(3) Self-activity

(4) Allof the above

Which of the following is not the
maxims of teaching 7

(1) Known to unknown

(2) Specific to general

(3) Part to whole '

(4) Simple to complex
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127. ﬁwﬁﬂaﬂwﬁmwfeﬁqﬁ%?
(1) Ffraa viqam = fagra
() Taire @ TmFT spiemell =t T
a6+ = faera
(3) W= F g
(4) T =t Regra

128. o W HRGEINTS SET RV
wamfea fomar '
(1) sogu
(2) wEE
(3) Higeiar
) e

129, Frifeg & | S0 e dwor Sl
HETE € 7
(1) SegEeET
(2) e
(3) vigraw=r
(4) VeEmEen

130. FRERERE H AT HAT?
(1) &
(2) =, awrEd
(3) wEE
(4) T T

131. Fifafcenst afipn & wwe
(1) F&x
(2) Toe amia!
(3) FEeR
4) Hget

132. aﬁ@wﬁwaﬁﬂwmﬂ?mm
T o

(1) TR
2) ¥ fEs
(3) SW N
(4) 3oz AgaT
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127.

128.

129.

130.

131.

132.

Which of the following is not a

principle of development ?

(1) Principle of uniformity of pattern

(2) Principle of proceeding from
specific to general response

(3) Principle of integration

(4) Principle of continuity

The view of psycho-social stage of
development was proposed by

(1) Bandura

(2) Freud

(3) Kohlberg

(4) Erickson

Which of the following stage is caIled

" the period of transition ?

(1) Childhood
(2) Adolescence
(3) Adulthood
(4) Infancy

Who is the father of behaviourism ?
(1) Hull '

(2) J. Watson

(3) Freud

(4) Ivan Pavlov

Constructivist learning is advocated by
(1) Skinner

(2) Lev Vygotsky

(3) Kohler

(4) Maslow

The meaningful verbal learning was
explained by

(1) Robert Gagne

(2) Jean Piaget

(3} Jerom Bruner

(4) David Ausubel
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133. et e wafye §
(1) wHfaS @ §
(2) wHamers gl d
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133.

134.

135.

136.

137.

138.

'
!

Daniel Goleman is associated with

{1) Mental Health

(2) Emotional Intelligence

(3) Creativity

(4) Personality

An effective teacher is one who can
(1) Control the class |

(2) Give more information

(3) Motivate students to learn

'(4) Correct the assignment carefully

Which of the followirig matching is
correct 7

(1) Types of learning - Kohler
(2) Experiential Jearning — Carl Rogers
(3) Social learning — Gagne

(4) Insightful léarning - Bandura

Defence mechanism is -

(1) Conscious behaviour

(2) Rational and logical

(3) Direct method :

(4) A protection shield to one’s
personality

The inquiry training model of teaching
was developed by :

(1) Bruner

(2) Richard Suchman

(3) Donald Oliver

(4) John Dewey

The concept of co-operative leammg

was introduced by

(1) Johnson and Smith
(2) Felder

(3) Heller

{4) Feichtner and Davis
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140.

141.

142.

143.

Which statement is wrong with regards
to constructivism ?

(1) Learning is an active process.

(2) Learning is a  personal
interpretation of world.

(3) Teachers disseminate information
to students.

(4) Teachers Thelp students to

construct their own knowledge.

Factors causing adjustment problem are
(1) Stress '
(2) Anxiety

(3) Frustration

" (4) All of the above

According to constructivism, the role
of a teacher is as a |
(1) Facilitator

(2) Administrator

(3) Team leader

(4) Director

Audio-visual aids
1
(2)

Facilitates in understanding

Helps in developing perception of
the learner _ -
Increases the retention of the -
learner '

All of the above

)

Q)

.Whic‘h of the following is the example

of information processing teaching
model ?

(1) Social interaction model

(2) Concept attainment model

(3) Laboratory teaching model

(4) Group investigation model

- 06
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145.

146.

147.

148.

149,

150.

. Classroom teaching should be
(1) One sided (2) Intense
(3) Interactive (4) Slow

Function of communication is
(1) Motivation

(2) Sharing of information -
(3) Education and training
(4) All of the above

Computer aided instruction is called as
) |
2)
3)
4)

Wi-Fi stands for

(1) Wireless Factory
(2) Wireless Fidelity
(3) Web Factory
(4) Wed Fidelity

electronic brain
electronic memory
electronic book
electronic journal

Information communication technologies
(1)
(2)
(3)
4

raise students” motivation
raise students’ achievement
promote higher order thinking
all of the above

is used to protect network
from outside attacks.
(1) DNS (2) Firewall
(3) Extranet | (4) Fortress

Optical storage device is
(1) Flash membry cards
(2) ‘USB drive

(3) DVD

(4) Hard Disk
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